






If man makes proper use of his time and 

(1)/opportunities and follow his aim in life with 

patience and(2)/ perseverance. He is sure to 

succeed(3) No Error(4)/

HOMEWORK

Find the error





VOCABULARY

LIGATURE

Meaning : Something that is used to bind.

Synonyms : Bond, cord, knot, link, tie

Antonyms : Detaching, unbinding, 

unfastening, untying

Sentence : A mental health patient died after 

tying a ligature around her neck in a 

hospital bedroom.



ERROR 

DETECTION





He was never very (A) / happy during his school days,(B) / 

and his post-graduation depression (C) /was a completely 

different kind of problem.(D) No error (E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 3

In Part C, But will be used in place of And.



While evidence of the (A) / growing influence of Punic identity 

in (B) / North Africa can be found in many of his writings,(C) 

/ and it is most prominent in his many surviving letters.(D) / 

No Error (E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 4

Remove and



She neither faltered (A) / nor she (B)/ hesitated when (C) 

/questioned under oath. (D)No error (e)

1. A

2. B

3. C

4. D

5. E

Solution : Option 2

In Part B, No need to repeat She



The last time it (A) / snowed, that was (B) / in February, my dad 

lost control (C) / of his car and hit a tree.(D) /No error(E) 

1. A

2. B

3. C

4. D

5. E

Solution : Option B

In Part B, Use ‘which’ in place of ‘that’



She carefully (A) / reviewed her case notes,(B)/  such as not to (C) 

/ be surprised in court.(D)/ No error (E).

1. A

2. B

3. C

4. D

5. E

Solution : Option 3

In Part C, ‘Such’ should be replaced with ‘so’



While his new acquaintances (A) / always initially think that  (B) / 

Daniel is a very shy person, but longtime (C) / friends know that he 

can be very outgoing in the right circumstances. (D) / No Error (E).

1. A

2. B

3. C

4. D

5. E

Solution : Option 3

In Part C, Remove ‘but’



Janice was the top student (A) / in her graduating high school class, 

(B) / but so the principal invited her to be (C) / valedictorian of the 

class. (D) /No Error (E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 3

In Part B, Remove ‘But’



Paul knew that (A) /summer was coming, and (B) /he hadn't 

confirmed (C) / any plans for vacation. (D) / No Error (E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 2

In Part B , Replace ‘and’ with ‘but’



The weather (A) / forecast predicted snow (B) / for today, (C) / and 

it is raining. (D) / No Error(E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 4

In Part D , Replace ‘and’ with ‘but’



Her father indicated (A) / his willingness to lend her the (B) / 

money and she hated the (C) / idea of being indebted to her father. 

(D) / No Error(E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 3

In Part C ,Replace ‘and’ with ‘but



He was instructed (A) / to create compelling questions (B) / for the 

exam, and what (C) / did she mean by compelling?(D) / No error 

(E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 3

In Part C , Use ‘but’ instead of ‘and’



Mark's conviction (A) / was laudable, and his (B) / behavior, 

however, was (C) / completely unprofessional. (D) / No error.(E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 2

In Part B , Remove and



The international organization (A) / is currently updating its 

Human Index, (B) / which takes into account life expectancy, 

education, (C) / as well as income per person. (D) / No error . (E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 3

In Part C Add ‘and’ after expectancy



The analysis both (A) / fascinated Amy and (B) / it showed her that 

there (C) / was another side to the story.(D) / No error €

1. A

2. B

3. C

4. D

5. E

Solution : Option 3

In Part C , Remove ‘it’



Neither the economic (A) / theory of Adam Smith nor Karl Marx 

(B) / are adequate to describe the (C) /complexities of the modern 

economy. (D) / No error(E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 2

In Part B , After Nor add ‘that of’



The remarkable thing (A) / about the new service was that it not 

(B) / only shortened wait times but also (C) / provides better 

service for customers. (D) / No error(E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 3

In Part C , Not only shortens



Neither the ringing (A) / alarm clock or the crowing (B) / rooster 

were enough to rouse (C) / Old MacDonald from his slumber. (D) / 

No Error(5)

1. A

2. B

3. C

4. D

5. E

Solution : Option 2

In Part B , Use Nor



Just as "he who sings, prays twice" cannot (A) / be properly 

attributed to Augustine, even if similar statements (B) / can be 

found in his sermons, so too is there no evidence that his mentor (C)/ 

Ambrose is responsible for the saying "when in Rome, do as the 

Romans do.“ (D) No error (E)

1. A

2. B

3. C

4. D

5. E

Solution : Option 5

No Error



The two hour delay caused problems not only 

for Buckley, and Ronnie as well. 

HOMEWORK

Find the error




